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FEREIX OR300 HESE FTEEF2KX OBFO1 D RETE.
muES | pHERe |PETELN) sax | mEx | mER B1XE BHES | BHERE | DOSEL | 4g)x
1 FE &L BARLER 4,486 4,264 4,352 13,102 1 U<CH UAPT RER 15,290
2 -LEF = RE® 27,588 23,473 25,853 76,914 2 INK =D E BEHERER 31,632
3 B3 f=mL BRI OES 15,099 16,008 13,561 44,668 3 AR #17 BARLES 6,759
4 wmE bEE HATED 9,498 7,584 10,007 27,089 4 tH LLUVA | BR#EFOS 17,852
5 Pl OAH=E BHEEE 29,228 21,436 19,263 69,927 5 E@R >S5 BARREDRE 10,914
st 85,899 72,765 73,036 231,700 &t 82,447
FIZEE (%) 100.00% 100.00%|  100.00% 100.00% BAZ R (%) 100.00%
A BoRES 85,899 72,765 73,036 231,700 A BREH 82,447
B FENIRE 2,802 2,051 1,709 6,562 B |mNRE 2,482
o] Xmm.éﬁt(A+B) 88,701 74,816 74,745 238,262 C SER(A+B) 84,929
D BFIgY -0t 2 2 0 4 D BFIgY -0t 1
E BEEH(C+D) 88,703 74,818 74,745 238,266 E BEEH(C+D) 84,930
BIZEH Tl 0:30 23:59 0:17 0:30 FZERTEZ 0:01
FEEEIX 235%’445:6&_% FTEEFOR OFF30RFERE.
o =48 E B o o {=EEER R
1 ME —IF BARXREDR 7,573 1 LD #B—HR RE® 17,895
2 IMNK f=h L BAREHFOS 10,230 2 hhh#H #D% | BEREXREDR 4,675
3 Al IE HAXES 2,710 3 A I B BAREHFOS 13,091
4 5 BHBE RER 11,002 4 AR FEL BEHRER 24,653
5 wE vAHT BEHERERE 22,946 5 R L L= HAXESR 3,957
6 HE PEZ 529 6 Ak U0AL 1,238
it 54,990 it 65,509
FIZEE (%) 100.00% FIZEE (%) 100.00%
A ARE 54,990 A BOREH 65,509
B BT EHK 1,501 B BN EY 2,449
C T ERE(A+B) 56,491 C T ERE(A+B) 67,958
D BIgY -zt 1 D BIgY -1t 1
E HEEH(C+D) 56,492 E BEEH(C+D) 67,959
BIZEH T B 23:44 BIZEH T B 0:30




